
1

3a = 2, 3b = 5とするとき，log3 250，log15
3
√
10を a, b用いて表すと，

log3 250 = 10 ，log15
3
√
10 = 11 である．

〔 10 に関する選択肢〕

ア⃝ 3ab イ⃝ ab3 ウ⃝ a+ 3b エ⃝ a+ b3 オ⃝ 3b+ 1
a

〔 11 に関する選択肢〕

ア⃝ a+ b
3b+ 1

イ⃝ 3b+ 1
a+ b

ウ⃝ 3b+ 3
a+ b

エ⃝ a+ b
3b+ 3

オ⃝ b+ 1
3a+ 3b
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【答】
10

ウ⃝

11

エ⃝

【解答】
a, bは

3a = 2 より， a = log3 2

3b = 5 より， b = log3 5

である．まず

log3 250 = log3(2 · 5
3)

= log3 2 + 3 log3 5

= a + 3b ……（答）

である．つぎに

log15
3
√
10 =

log3 10
1
3

log3 15

=

1
3
log3(2 · 5)

log3(3 · 5)

=
log3 2 + log3 5

3(1 + log3 5)

=
a + b
3b + 3

……（答）

である．


